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Subtracting without Regrouping Name:
Solve each problem. Answers
1
1) 744 2) 7,924 3 94 4) 626
- 610 -1,110 - 33 - 510 5
3,
4,
5 9,197 6) 68 7) 964 8 9,799 >
- 21 -44 - 651 - 6,602 6
7.
8.
9 28 100 196 11) 6,348 12) 44 9.
- 2 - 84 - 225 -13
— — —_— — 10.
11.
12.
13) 836 14) 6,881 15) 38 16) 631 13,
- 523 - 500 -25 - 110
T - T T 14,
15.
16.
17) 3,448 18) 154 19 197 20) 4,365 17
- 1,002 - 2 - 11 - 3,010
18.
19.
20.
1-10 [95|190|85(80(75|70| 65|60 |55|50
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Subtracting without Regrouping Name: Answer Key
Solve each problem. Answers
1 134
1) 744 2 7.924 3 94 4) 626
- 610 -1,110 - 33 -510 ” 6814
134 6,814 61 116
3. 61
4 116
5 9,197 6 68 7 964 8 9,799 > 9176
- 21 - 44 - 651 - 6,602 6 24
9.176 24 313 3,197
- 313
8 3197
9 28 10 196 1) 6,348 12) 44 J 26
-2 - 84 - 225 -13 112
26 112 6.123 31 10
11 6123
12, 31
13) 836 14) 6,881 15) 38 16) 631 13, 313
- 523 - 500 - 25 - 110
313 6.381 13 521 4. 6381
15. 13
16. 521
17) 3,448 18) 54 190 197 20) 4,365 7 2446
- 1,002 -2 - 11 - 3,010
2,446 52 186 1,355 18, Y
19, 186
20, 1355
1-10 195(90(85|80| 7570|6560 |55 |50
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Subtracting without Regrouping Name:
Solve each problem. Answers
26 61 3197 9176
6123 6814 112 24 1,
313 116 31 134
2.
1) 744 2 7,924 3 94 4) 626 3.
-610 -1,110 - 33 - 510
- - - - 4,
5.
6.
7.
8.
5 9,197 6) 68 ) 964 8 9,799 9.
- 21 -44 - 651 - 6,602
- - - 10.
11.
12.
9 28 100 196 11) 6,348 12) 44
- 2 - 84 - 225 - 13
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